Cost Accounting      Quiz Chapter 5        Name______________________________________

1. The unique feature of an ABC system is the emphasis on:

A. costing individual jobs.

B. department indirect-cost pools.

C. multiple cost pools.

D. individual activities.

2. Do ABC systems always provide more accurate product costs than conventional cost systems?  Why or why not?


No!  If products are identical, the traditional cost system would do at least as good of a job and sometimes better.

3. Mayan Potters manufactures two sizes of ceramic paperweights, regular and jumbo. The following information applies to their expectations for the planning period:


Cost Pool
Overhead Costs
Activity-cost driver


Materials handling
$  45,000
90,000 orders


Machine maintenance
$300,000
15,000 maintenance hours


Setups
$270,000
45,000 setups


Inspections
$105,000
21,000 inspections


     Total support costs
$720,000

                Production Estimates

Production units:

     Regular
=   8,000,000 units

     Jumbo
= 16,000,000 units

Machine-hours
=      200,000 mh

Labor-hours
=      400,000 dlh

Mayan Potters uses an ABC system and assigns overhead costs based on the overhead activity information provided above.

During October, Mayan produced 700,000 regular ceramic paperweights and Mayan’s production manager counted 2,000 orders; 1,000 maintenance-hours; 2,000 setups; and 2,000 inspections for the regular product line. For October, Mayan’s controller assigned _________ indirect costs to the regular product line.


A.
$43,000


B.
$25,000


C.
$34,000


D.
None of these answers are correct.

4. A well-designed, activity-based cost system helps managers make better decisions because information derived from an ABC analysis:


A.
can be used to eliminate nonvalue-added activities


B.
is easy to analyze and interpret


C.
takes the choices and judgment challenges away from the managers


D.
emphasizes how managers can achieve higher sales
5. Which of the following is a sign that an ABC system may be useful?

A.
There are small amounts of indirect costs.

B.
Products make diverse demands on resources because of differences in volume, process steps, batch size, or complexity.

C.
Products a company is less suited to produce and sell show small profits.

D.
Operations staff agrees with accountants about the costs of manufacturing and marketing products and services.
6. The goal of a properly constructed ABC system is to:


A. have the most accurate cost system.

B. identify more indirect costs.

C. develop the best cost system for an economically reasonable cost.

D. have separate allocation rates for each department.
7. What are the factors that are causing many companies to refine their costing systems to obtain more accurate measures of the costs of their products?

8. Overcosting of a product is MOST likely to result from:


A.  misallocating direct labor costs


B.  overpricing the product


C.  undercosting another product


D.  understating total product costs
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A. costing individual jobs.

B. department indirect-cost pools.

C. multiple cost pools.

D. individual activities.

2. Do ABC systems always provide more accurate product costs than conventional cost systems?  Why or why not?


No!  If products are identical, the traditional cost system would do at least as good of a job and sometimes better.
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[($45,000 / 90,000) x 2,000] + [($300,000 / 15,000) x 1,000] + [($270,000 / 45,000) x 2,000] + [($105,000 / 21,000) x 2,000] = $43,000
4. A well-designed, activity-based cost system helps managers make better decisions because information derived from an ABC analysis:


A.
can be used to eliminate nonvalue-added activities


B.
is easy to analyze and interpret


C.
takes the choices and judgment challenges away from the managers


D.
emphasizes how managers can achieve higher sales
5. Which of the following is a sign that an ABC system may be useful?

A.
There are small amounts of indirect costs.

B.
Products make diverse demands on resources because of differences in volume, process steps, batch size, or complexity.

C.
Products a company is less suited to produce and sell show small profits.

D.
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6. The goal of a properly constructed ABC system is to:


A. have the most accurate cost system


B. identify more indirect costs


C. develop the best cost system for an economically reasonable cost


D. have separate allocation rates for each department

7. What are the factors that are causing many companies to refine their costing systems to obtain more accurate measures of the costs of their products?


Answer:


The first cause is increasing product diversity.  Companies are producing many more products than they used to, placing strains on more simple, older cost systems.  A second cause is the overall increased in indirect costs and the relative decline of direct costs.  The indirect nature of these costs requires allocation, and any inaccuracies in allocation of these costs become magnified as these indirect costs increase.  A third cause would be advances in information technology that makes complex allocation of indirect costs less burdensome.  Finally, increased competition from both national and international competitors has resulted in more pressure to reduce costs, as well as increasing the need for and value of information to support responses to these new threats.

8. Overcosting of a product is MOST likely to result from:


A.  misallocating direct labor costs


B.  overpricing the product


C.  undercosting another product


D.  understating total product costs
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